PFM Tutorial 12 – Consultation 2:30 ( 4:30 Friday

Professional Application Questions

In each of the following cases, decide which is the best answer.

8.1 ‘Mortgage buster’ or offset accounts significantly reduce the period of the loan by:

a) reduction in the interest rate

b) cross-subsidisation

c) increasing attached credit card debt

d) reducing the effective loan outstanding most of the time

8.2 Home ownership provides the following advantages:

a) investment liquidity

b) highly visible and divisible investment

c) protection from CGT normally levied on investment returns

d) locational fluidity

8.3 GST is payable on the supply of:

a) new houses for first-time occupancy

b) all houses, whether new or old

c) all residential accommodation, whether new or old

d) all housing sold for rental purposes

8.4 A gain on the sale of Tom’s home is fully exempt from CGT if:

a) it was Uncle Ben’s property acquired by Tom 3 years ago as a legacy and subsequently rented

b) it was purchased in June 1985 and rented out for 2 years before Tom moved in

c) any rented portion for any period is less than 20% by floor area

d) Tom bought the property in 1990 and has always lived in it

8.5 Jean bought her house in August 1984 and lived there until her death on 1 December 1998. Her daughter, Jan, inherited the house and lived there until she sold it in March 2002.

a) The sale is exempt from CGT

b) CGT is levied on 40% of the sale price

c) CGT is levied on the whole sale price as Jan got the house free of cost

d) CGT is levied on the increase in market price from the time of inheritance to the sale

PAE

8.2 James and Grace earn a combined income of $5100 each fortnight after tax. Grace thinks they should be able to make a major effort and pay off the $100 000 loan much faster.

a) If they are willing to pay between $2000 and $2100 per fortnight and their lender is happy with compounding the interest fortnightly, can they pay off their nominal annual 7.2% loan in 2 years?

b) How much interest is paid over the period of the loan if they pay it off as quickly as possible within their financial constraints?

PV = C/i * (1- 1/(1+i)n)

i = 0.072 / 26

a) Yes – 51 x $2100 plus a smaller payment, or 52 x $2067.50.

b) 52 x $2067.50 - $100 000 = $7510

Case Study

1. What are Pat’s monthly income and expenses after tax, not including loan repayments?

Gross income:

$71 000 + 1334 = $72 334

Net income:

$72 334 – 22 462 = $49 872 p.a.




= $4156 per month

Monthly expenses:
$700 x 52.14



         12




= $3042

Income after expenses: $4156 – 3042 = $1114

2. What is the monthly repayment amount for the 30-year loan?

Monthly repayment:

$100 000




 158.211




=
$632.06

3. How much could she repay monthly with the mortgage crusher loan?

$1114

4. How much interest would she pay with the standard 30-year loan

$632.06 x 360 – 100 000 = $127 542

5. How much interest would she pay and how long would she be paying off the mortgage crusher loan?

This is a trial and error problem. By paying off $1114 per month, she will considerably shorten the repayment period of the loan. The $1114 repayment is about double the fixed rate, so we know the repayment period will be less than half the 360 periods with the fixed amount.

· 123 repayments give a PV of $999 837

· 124 payments give a PV of $100 407 and takes 10 years and 4 months.

(In actuality, the period will be even shorter than this, because her full after-tax pay will be deposited into the account fortnightly and her credit card bill will be paid monthly in arrears.)

The interest will not be more than 124 x $1114 – 100 000 = about $38 000

